
1 2 3 4 5 6

7 8 9 10 11 12

Pack 1:
2x Sofas

12 3 4 5 6

7 8 9 10 11 12

Pack 2:
1x Linking Panel

Add Furniture - 4 Person Meeting 
Booth Build Instrucions

1 23 4 5 6

7 8 9 10 11 12

Pack 3:
1x Top Pack



1,2,3...

**mmTO
O

LS
 R

EQ
U

IR
ED

FO
R 

A
SS

EM
BL

Y
D

O
N

T 
ST

RU
G

G
LE

2 
M

A
N

 L
IF

T
A

LW
AY

S 
H

A
N

D
LE

IT
EM

S 
W

IT
H

 C
A

RE
IF

 U
N

SU
RE

 C
A

LL
FO

R 
A

SS
IS

TA
N

CE
**mm

KE
EP

 F
IT

TI
N

G
S 

AW
AY

FR
O

M
 C

H
IL

D
RE

N

4



Please check that you have all the parts

1 2 3 4 5 6

7 8 9 10 11 12

PACK 1:
2 x Sofas

Connector Bolt - M6
Top fixing kit

Size	 PCS
50mm	 3
&
20mm	 3

Connector Bolt - M6
Leg fixing kit

Size	 PCS
20mm (MF)	 8
or	
50mm (WF)	 8

FITTINGS SUPPLIED

Please check that you have all the fittings

800 x 800mm = EN-BU-MOD01H
1400 x 800mm = EN-BU-MOD02H
2000 x 800mm = EN-BU-MOD03H

1 2 3 4 5 6

7 8 9 10 11 12

PACK 2:
1 x Link Panel

1300 x 1150mm = 
EN-BU-LINK

PACK 3:
1 x Top Pack

600 x 700mm = EN-BU-1P-TOP
1200 x 700mm = EN-BU-2P-TOP
1600 x 700mm = EN-BU-3P-TOP

1 2 3 4 5 6

7 8 9 10 11 12

-WF-MF
or

-WF

-MF

or

Top Fixing Bracket

Size	 PCS
500 x 50mm	 1

Link Fixing Bracket

Size	 PCS
120 x 30mm	 2



Locate and attach the leg aligning 
the holes located as shown using 
the M6 x 20(MF) / 50(WF)bolts.

MEETING BOOTH ASSEMBLY
1

Step 1

2
Step 2

Unpack your new Add booth 
seating unit and please recycle 
all packaging.

3
Step 3

Align the button fixtures and drop 
into place attaching each sofa 
one at a time. 



4
Step 4

5

6
Step 6

Attach the M6 x 20mm bolts as 
shown to secure the frame to the 
top.

Locate the brackets to the fixing 
holes and attach using the M6 x 
20mm bolts as shown. 

Step 5

Attach the top fixing bracket 
using the M6 x 50mm bolts as 
shown.




